S
e
=
L 4
ZO
8
s 3.5
pd
O
>
Z 3
=
2.5
2
1.5
1
0.5
2
)
<
|
|_
<
o 1
ko)
IS
x
0.5

Rivet 3.1.10, = 2.8M events

13000 GeV pp Z+Jet
1 L L L N I B M B B B
- Nch (ATLAS UE in Z production) B
- m ATLAS .
—  --4-- Herwig 7.2.1 default 7]
- ¢ Sherpa 2.2.9 default N
I ]
_f _|
- .
- N
- Q -]
- P = S N
— @ﬂ lll'ﬁiii —
- E‘W' ’!_’_’ e 111} 7]
— K B e 7
;=5!=!A! TR EN 1
S -
- -
- oy g A E
R, W N
- il ) :

= U
i K ]
u M, s |
*’ “\ A T/ |‘\
B o ml 7]
" | " 1 1 1 1 " ‘l " 1 1 1 1 " | Ju. I‘II_I |[m " 1 " | " 1 1 1 1 " | " 1 1
0 1 2 3 4

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


